Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE MATERIAL RECEIPT FROM DONORS UNDER C.S.R.





3 PLY MASKS

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	10.45 PM	PAYTM, DELHI	MH04-JU-3449	MR. PIYANSHU MISHRA	23	5,000	115,000
2	22-May-20	10.45 PM	PAYTM, DELHI	MH04-JU-3449	MR. PIYANSHU MISHRA	1	4,750	4,750
Total							0	119,750

23/5/2020

Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.



GLOVES

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	10.45 PM	PAYTM DELHI	MH04-JU-3449	MR.PIYANSHU MISHRA	60	1,000	60,000
							Total	60,000

John gen By

13 January 23/5/202

Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE



MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	10.45 PM	PAYTM DELHI	MH04-JU-3449	MR.PIYANSHU MISHRA	74	2	148
							Total	148

18 tyname 25/5/2002

HAND SANITZER 5 LTRS.

HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED Acharya Donde Marg, Parel, MUMBAI - 400 012

COVID19 TASK FORCE

MATERIAL RECEIPT FROM DONORS UNDER C.S.R.





CONCENTRATE OXIMETER

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	5:30 PM	MCGM (G South Ward) Mumbai)	MH01-L-5516	MR. ASHOK KHAIRE	5	1	5
	Mark September						Total	5

1-2000 2515

HAFFKINE BIO-PHARMACEUTICAL CORPORATION LIMITED Acharya Donde Marg, Parel, MUMBAI - 400 012 COVID19 TASK FORCE



MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

	BOUY 34	

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	10:45 PM	PAYTM DELHI	MH04-JU-3449	MR.PIYANSHU MISHRA	302	288	86,976
	Total						Total	86,976

Acharya Donde Marg, Parel, MUMBAI - 400 012 COVID19 TASK FORCE



MATERIAL RECEIPT FROM DONORS UNDER C.S.R.

Sr. No.	Date of Receipt	Time of Receipt	Name of Donor	Vehicle No.	Concerned Person	Boxes Received	Units per Box	Total Received Quantity
1	22-May-20	10:45 PM	PAYTM DELHI	MH04-JU-3449	MR.PIYANSHU MISHRA	41	12	492
							Total	492